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% 90% = 60.3 x 50% = 9.5
x 60% = 54.6 x20% =172
x 50% = 16 x 60% = 30.6
% 90% = 89.1 x 50% =15
x10% =7 x 60% = 60
x 80% = 50.4 x 40% = 27.6
x 70% = 60.2 x 10% = 3.6
x 50% =41.5 x 80% = 21.6
x 10% = 0.8 % 90% = 64.8
x 50% = 25.5 x40% = 6.4



https://www.snowmath.com

RT3 T U= (AU TeT)

IR%y %

67 x 90% = 60.3

91 x 60% = 54.6

32 x50% = 16

99 x 90% = 89.1

70 x 10% =7

63 x 80% = 50.4

86 x 70% = 60.2

83 x50% = 41.5

8% 10% = 0.8

51 x50% = 25.5

19 X 50% = 9.5

86 x20% = 17.2

51 x 60% = 30.6

30 x 50% = 15

100 x 60% = 60

69 x 40% = 27.6

36 x 10% = 3.6

27 x 80% = 21.6

72 x90% = 64.8

16 x40% = 6.4
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